Multiplication 2
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Complete the table
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2 x 5 = 10
5 x 2 = 10
2 x 4 =
4 x __ = ___
3 x 5 = ____
5 x ____ = _____

3 x___ = ____
____x _____ -=_____
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Dora and Rosie are making hay bundles.

Who has made equal groups?

b Dora Rosie

Explain how you know.




image2.png
...“ 2 cookies in each column | 5 cookies in each row
—columns —_rows
_donuts in each column | __ donuts in each row

IOIVIDI®I® | — comns — o

IO I® D —fishin each column —fishin each row

IDOKDKD KD KD
3 columns 5 rows.

5 cupcakes in each column | 3 cupcakes in each row





